$$\int \frac{1}{w + 2\sqrt{1 - w} + 2} dw$$

Let 
$$u=\sqrt{1-\omega}$$
.  
 $u^2=1-\omega \longrightarrow \omega=1-u^2$   
 $b=1-u^2$ 

$$= \int \frac{-2u\,du}{-u^2+2u+3}$$

$$= \int \frac{2u \, du}{u^2 - 2u - 3}$$

$$\frac{2u}{u^2-2u-3} = \frac{2u}{(u-3)(u+1)} = \frac{A}{u+1} + \frac{B}{u-3}$$

$$2.2u = A(u-3) + B(u+1)$$
get  $A = \frac{1}{2}$ 

$$\int \frac{2u}{u^2 - 2u - 3} du = \int \frac{1}{2} \frac{du}{u + 1} + \int \frac{3}{2} \frac{du}{u - 3} du$$

$$= \frac{1}{2} \ln|u + 1| + \frac{3}{2} \ln|u - 3| + C$$

$$\int \frac{1}{\omega + 2\sqrt{1-\omega} + 2} d\omega = \frac{1}{2} \ln \left| \sqrt{1-\omega} + 1 \right| + \frac{3}{2} \ln \left| \sqrt{1-\omega} - 3 \right| + C.$$

$$\frac{2}{2}\int_{1-3\sqrt{2t-4}+2}^{1-2} dt = \sqrt{2t-4}$$

$$\frac{2}{2}\int_{1-3\sqrt{2t-4}+2}^{1-2} dt = \sqrt{2t-4}$$

$$\frac{2}{2}\int_{2}^{1-2} dt = u du$$

$$\frac{2}{2}\int_{2}^{1-2} dt = u du$$

$$\frac{2}{2}\int_{2}^{1-2} dt = u du$$

$$\frac{2}{2}\int_{2}^{1-2} du = 2u du$$

$$\frac{2}{2}\int_{2}^{1-2} du = \frac{u^{2}+2}{2}\int_{2}^{1-2} du = \frac{u^{2}+2}{2}\int_{2}^{1-2} du = \frac{u^{2}+2}{2}\int_{2}^{1-2} du$$

$$\frac{2}{2}\int_{2}^{1-2} du = \frac{u^{2}+2}{2}\int_{2}^{1-2} du = \frac{u^{2}+$$

**Scanned with CamScanner** 

$$\frac{(A = -4)}{(A = -4)} \left( \frac{B = 32}{} \right)$$

$$= \int (u+6) du + \int \frac{28u - 48}{u^2 - 6u + 8} du = \frac{32 du}{u - 4}$$

$$= \int (u+6) du + \int \frac{-4 du}{u - 2} + \int \frac{32 du}{u - 4}$$

$$= \frac{u^2}{2} + 6u - 4\ln|u-2| + 32\ln|u-4| + C$$

$$= \frac{u^2}{2} + 6u - 4\ln|\sqrt{2t - 4} - 2| + 32\ln|\sqrt{2t - 4} - 4| + C$$

$$= \frac{4}{2} + 6\sqrt{2t - 4} - 4\ln|\sqrt{2t - 4} - 2| + 32\ln|\sqrt{2t - 4} - 4| + C$$

$$4) \int \cos(\sqrt{x}) dx$$

$$2 = x$$

$$2 = x$$

$$2 = x$$

Let 
$$f = u \longrightarrow f' = du$$
.

Let  $f = u \longrightarrow f' = du$ .

 $g' = as(u)da \longrightarrow g = Sin(u)$ 

2.  $\int as (x)dx = 2 \int u \cos(u)du$ 

$$= 2 \left[ u.\sin(u) - \int \sin(u) du \right]$$

$$= 2 u.\sin(u) + 2 \cos(u) + c$$

$$= 2 \sqrt{x} \cdot \sin(x) + 2 \cos(x) + c.$$

## Integrals Involving Quadratics II.7

$$\int \frac{7}{\omega^{2}+3\omega+3} d\omega \longrightarrow \omega^{2}+3\omega+3 = (\omega+\frac{3}{2})^{2}+\frac{3}{4}$$

$$\int_{3}^{2} = \int \frac{7}{(\omega+\frac{3}{2})^{2}+\frac{3}{4}} d\omega = \int \frac{7}{3} \frac{d\omega}{(\frac{2}{3}\omega)^{2}+1} = \frac{28}{3} \int \frac{d\omega}{(\frac{2}{3}\omega)^{2}+1}$$

$$\int_{3}^{2} = \int \frac{7}{(\omega+\frac{3}{2})^{2}+\frac{3}{4}} d\omega = \int \frac{7}{3} \frac{d\omega}{(\frac{2}{3}\omega)^{2}+1} = \frac{28}{3} \int \frac{d\omega}{(\frac{3}{2}\omega)^{2}+1} = \frac{28}{3} \int \frac{d\omega}{(\frac{3}{2}\omega)^{2}+1} = \frac{28}{3} \int \frac{\sqrt{3}}{2} dx = \frac{14}{\sqrt{3}} \int \frac{dx}{\sqrt{2}+1}$$

$$\int_{3}^{2} \frac{d\omega}{(\frac{3}{2}\omega)^{2}+1} = \frac{28}{3} \int \frac{\sqrt{3}}{2} dx = \frac{14}{\sqrt{3}} \int \frac{dx}{\sqrt{2}+1}$$

$$\frac{28}{3} \int_{(\sqrt{3}u)^{2}+1}^{2u} = \frac{28}{3} \int_{\chi^{2}+1}^{2u} = \frac{14}{\sqrt{3}} \int_{\chi^{2}+1}^{2u}$$

$$= \frac{14}{\sqrt{3}} \tan^{-1}(x+c) = \frac{14}{\sqrt{3}} \tan^{-1}(\frac{2}{\sqrt{3}}u) + c$$

$$= \frac{14}{\sqrt{3}} \tan^{-1}(\frac{2}{\sqrt{3}}u) + c$$

$$= \frac{14}{\sqrt{3}} \tan^{-1}(\frac{2}{\sqrt{3}}u) + c$$

## Scanned with CamScanner

$$\frac{10 \times dx}{4x^{2}-8x+9} \longrightarrow 4x^{2}-8x+9=4(x^{2}-2x+\frac{9}{4})$$

$$= 4(x-1)^{2}+5$$

$$= 4(x-1)^{2}+5$$

$$\Rightarrow = \int \frac{10 \times dx}{4(x-1)^{2}+5} \longrightarrow \text{let } u = X-1$$

$$du = dx$$

$$(X = u+1)$$

$$= \int \frac{10 u}{4u^{2}+5} du + 10 \int \frac{du}{4u^{2}+5}$$

$$= \int \frac{10 u}{4u^{2}+5} du + \frac{10}{5} \int \frac{du}{(\frac{2}{15}u)^{2}+1}$$

$$= \int \frac{10 u}{4u^{2}+5} du + 2 \int \frac{du}{(\frac{2}{15}u)^{2}+1}$$

$$\text{let } \frac{2}{5}u = u \longrightarrow \frac{2}{5}du = du$$

$$\text{let } \frac{2}{5}u = u \longrightarrow \frac{2}{5}du = du$$

$$\text{let } \frac{3}{5}du = \frac{3}{5}du$$

$$= \int \frac{10 \, u \, du}{4 \, u^2 + 5} + 2 \int \frac{5}{2} \, du$$

$$= \frac{10}{8} \int \frac{8 \, u \, du}{4 \, u^2 + 5} + \sqrt{5} \int \frac{du}{\omega^2 + 1}$$

$$= \frac{5}{4} \ln |4 \, u^2 + 5| + \sqrt{5} \tan^{-1}(\omega) + 0$$

$$= \frac{5}{4} \ln |4 \, (x - 1)^2 + 5| + \sqrt{5} \tan^{-1}(\frac{2}{5}(x - 1)) + 0$$

$$= \frac{5}{4} \ln |4 \, (x - 1)^2 + 5| + \sqrt{5} \tan^{-1}(\frac{2}{5}(x - 1)) + 0$$

$$= \frac{5}{4} \ln |4 \, (x - 1)^2 + 5| + \sqrt{5} \tan^{-1}(\frac{2}{5}(x - 1)) + 0$$

$$\frac{3}{(t^{2}-4t+46)^{5/2}} = \frac{t^{2}-4t+46}{(t^{2}-4)^{2}-3}$$

$$\frac{2t+9}{(t^{2}-4t+46)^{5/2}} = \frac{2t+9}{(t^{2}-7)^{2}-3}$$

$$\frac{2t+9}{(t^{2}-4t+46)^{5/2}} = \frac{2t}{(t^{2}-7)^{2}-3}$$

$$\frac{du=dt}{(t^{2}-4t+46)}$$

$$= \int \frac{2(u+7)+9}{(u^{2}-3)^{5/2}} du = \int \frac{2u+23}{(u^{2}-3)^{5/2}} du$$

$$=\int \frac{2u\,du}{(u^2-3)^{5/2}} + \int \frac{23\,du}{(u^2-3)^{5/2}}$$

[the first integral]
$$\frac{2udu}{(u^2-3)^{5/2}} = \int 2u(u^2-3)^{2}du$$

$$= (u^2-3)^{-3/2} - 2$$

$$= (u^2-3)^{-3/2} \cdot \times \frac{2}{3}$$

$$= \frac{2}{3} \times \frac{1}{(u^2-3)^{3/2}}$$

$$= \frac{-2}{3} \times ((t-7)^{2} + 0)^{3} + 0$$

the second integral 
$$\frac{23 d4}{(u^2-3)^{5/2}}$$

$$\frac{23d4}{(2^{2}-3)^{5/2}} = \int_{0}^{23.\sqrt{3}} \frac{23 \cdot \sqrt{3}}{(\sqrt{35ee^{2}\theta}-3)^{5/2}} \frac{23 \cdot \sqrt{35ee^{2}\theta}}{(\sqrt{35ee^{2}\theta}-3)^{5/2}}$$

$$= \int \frac{23\sqrt{3}}{(\sqrt{3})^5} (\sqrt{5ec^2\theta - 1})^{5}$$

$$= \frac{23}{9} \int \frac{\sec \theta \tan \theta d\theta}{(\sqrt{\tan^2 \theta})^5}$$

$$= \frac{23}{9} \int \frac{\sec \theta \tan \theta d\theta}{\tan^9 \theta}$$

$$= \frac{23}{9} \int \frac{\sec \theta}{\tan^9 \theta} d\theta = \frac{23}{9} \int \frac{\cos^3 \theta}{\sin^9 \theta} d\theta$$

$$= \frac{23}{9} \int \frac{(1-\sin^2 \theta)}{\sin^9 \theta} \cos \theta d\theta$$

$$= \frac{23}{9} \int \frac{1-u^2}{u^9} du$$

$$= \frac$$

$$= -\frac{23}{27} \times \frac{u^3}{(\sqrt{u^2-3})^3} + \frac{23}{9} \times \frac{u}{\sqrt{u^2-3}} + C$$

$$= \frac{-23}{27} \times \frac{(t-7)^3}{(\sqrt{(t-7)^2-3})^3} + \frac{23}{9} \times \frac{t-7}{\sqrt{(t-7)^2-3}} + c$$

$$i. \int \frac{2t+9}{(t^2-14t+46)^{5/2}} dt = \frac{-2}{3((t-7)^2-3)^{\frac{3}{2}}} \frac{23(t-7)^3}{27((t-7)^2-3)^{\frac{3}{2}}} + \frac{23(t-7)}{9((t-7)^2-3)^{\frac{1}{2}}} + c$$

$$=\frac{23(t-7)}{9\sqrt{(t-7)^2-3}} - \frac{18+23(t-7)^3}{27((t-7)^2-3)^{3/2}} + C \times .$$

$$\frac{|\mathcal{Y}|}{\int \frac{3Z}{(1-4Z-2Z^2)^2} dZ} \longrightarrow 1-4Z-2Z^2 = -2(Z^2+2Z-\frac{1}{2})$$

$$= -2[(Z+1)^2 - \frac{3}{2}]$$

$$= 3-2(Z+1)^2$$

$$= \frac{3Z \cdot dZ}{(3-2(Z+1)^2)^2}$$

$$= 1et u = Z+1 \longrightarrow Z = u-1 \longrightarrow dZ = du$$

$$= \int \frac{3(u-1) du}{(3-2u^2)^2} = \int \frac{3u-3 du}{(3-2u^2)^2}$$

$$= \int \frac{3udu}{(3-2u^2)^2} - 3 \int \frac{du}{(3-2u^2)^2}$$

$$= \int \frac{3udu}{(3-2u^2)^2} - 3 \int \frac{du}{(3-2u^2)^2}$$

$$= \frac{3}{4} \times (3-2u^2)^2 \text{ du}$$

$$= \frac{3}{4} \times (3-2u^2)^2 + 1$$

$$= \frac{3}{4} \times (3-2u^2) + 1$$

$$= \frac{3}$$

## Scanned with CamScanner

$$= \frac{\sqrt{6}}{18} \int \frac{1}{\cos^3 \theta} d\theta = \frac{\sqrt{6}}{18} \int \frac{1}{\sec^3 \theta} d\theta$$

$$= \frac{\sqrt{6}}{12} \int \frac{1}{\sec^2 \theta} \cdot \frac{1}{\sec^3 \theta} d\theta$$

$$= \frac{\sqrt{6}}{12} \int \frac{1}{\sec^3 \theta} \cdot \frac{1}{\sec^3 \theta} d\theta$$

$$= \frac{\sqrt{6}}{18} \int \frac{1}{\sec^3 \theta} \cdot \frac{1}{2 + 18} \left[ \frac{1}{3 + 12 + 18} \right] + \frac{1}{3 + 12 +$$

$$=\frac{3}{4(3-2(2+1)^2)}-\frac{(2+1)}{2(3-2(2+1)^2)}-\frac{\sqrt{6}\ln \left|\frac{\sqrt{3}+\sqrt{2}(2+1)}{\sqrt{3}-2(2+1)^2}\right|+c$$

$$= \frac{3}{4(3-2(2+1)^2)} - \frac{Z+1}{6-4(Z+1)^2} - \frac{1}{2\sqrt{6}} \sqrt{\frac{3+(2(2+1))}{3-2(Z+1)^2}} + c$$

$$\int \frac{3-7t}{(t^2+12t+40)^2} dt \longrightarrow t^2+12t+40 = (t+6)^2+4$$

$$\int_{0}^{\infty} = \int_{0}^{\infty} \frac{3-7t}{(t+6)^{2}+4)^{2}} dt$$

$$\Rightarrow = \frac{3-7(u-6)}{(u^2+4)^2} du = \int \frac{3-7u+42}{(u^2+4)^2} du$$

$$= \int \frac{45 \, du}{(u^2+4)^2} - 7 \int \frac{u}{(u^2+4)^2} \, du$$

First integral 
$$\frac{45 d4}{(u^2+4)^2} = \int \frac{45 d4}{(4)((\frac{u}{2})^2+1)^2}$$

$$= \frac{45}{16} \int \frac{du}{(\frac{u}{2})^2 + 1}^2 \implies \det x = \frac{u}{2} - \frac{u}{2} = \frac{1}{2} du$$

$$= \frac{45}{16} \int \frac{2dx}{(x^2 + 1)^2} = \frac{45}{8} \int \frac{dx}{(x^2 + 1)^2}$$

$$= \frac{45}{16} \int \frac{2dx}{(x^2 + 1)^2} = \frac{45}{8} \int \frac{dx}{(x^2 + 1)^2}$$

$$= \frac{1}{2n} \cdot \frac{x}{(x^2 + 1)^n} + \frac{2n - 1}{2n} In$$

$$I_2 = I_{1+1} = \frac{1}{2} \cdot \frac{x}{x^2 + 1} + \frac{1}{2} I_{1+1} + c$$

$$= \frac{x}{2(x^2 + 1)} + \frac{1}{2} I_{1+1} + c$$

$$= \frac{45}{16} \left( \frac{dx}{(x^2 + 1)^2} \right) + \frac{45}{16} ta^{-1} \left( \frac{u}{2} \right) + c$$

$$= \frac{45}{32} \left( \frac{(t + 6)}{(t + 6)^2 + 1} \right) + \frac{45}{16} ta^{-1} \left( \frac{t + 6}{2} \right) + c$$

$$\frac{5e \operatorname{cord} \operatorname{integral}}{L_{3} - 7 \int \frac{u}{(u^{2} + 4)^{2}} du} = \frac{-7}{2} \int 2u \left(u^{2} + 4\right)^{2} du$$

$$= -\frac{7}{2} \times \left(u^{2} + 4\right)^{-1} \times -1 + C$$

$$= \frac{7}{2(u^{2} + 4)} + C \times \left(\frac{3 - 7t}{t^{2} + 12t + 40}\right)^{2} dt = \frac{45(t + 6)}{8((t + 6)^{2} + 4)} + \frac{45}{16} ta^{-1} \left(\frac{t + 6}{2}\right)$$

$$= \frac{45(t + 6) + 28}{8((t + 6)^{2} + 4)} + \frac{45}{16} ta^{-1} \left(\frac{t + 6}{2}\right) + C$$